Chromosome 1 -3 kn.0 9604375 15 6

%°3

= [
: &)

o4
H
J-c

s

-

2

K

°3

e

e "

0 [} %

R X

e iy
Sl X PO

* o ”

‘ ‘“. 0

L] -
et

..
T e

P AT

L] L] L] L ] L] L] ..‘.’
00”0000-. °
PRI

. ool‘o. no .-

of
KO
~:°.-"'.-

- ...-P .igcondoo.oo

| b

i

A 3

dbo

bp/1e+06



Chromosome 2 - 3_kn.0_9604375_15 6

S IB S ST
See I0ED. . BV ° g

DIV o %% -

dbo

bp/1e+06



Chromosome 3 -3 kn.0 9604375 15 6

RO |

%o d o .
o oo L]

° 8%
->e
mmm o

dbo

bp/1e+06



count

400 -

200 -

10

pos/1e+06

20

30



Chromosome 4 - 3_kn.0_9604375_15 6

o o o qmes o o

o SRR °® 3 o

3
00 oo ld o

dbo

bp/1e+06



e

L]
ems
o
8
L
°
.

(]
(]
|
|
QY X

Chromosome 5 -3 kn.0 9604375 15 6

‘| (Pl

;
. e

. @ ame oo . "’r‘

o . . ¢ c-n o"o o." looo"-ooﬁonoo.“
[ e oomde L[] e® o o
'..u L]
\.' - .
- . o-o.
rd. L]

dbo

bp/1e+06



